In order to run the SPSS programs (*.sps), we should type our data in columns and name them appropriately.  Those names, as they were used in the SPSS programs are: 

	Variable name
	Description
	Measurement unit

	t
	Tree age
	Years

	d
	Breast height diameter
	m

	h
	Total tree height
	m

	dhi
	Tree diameter at height hi (m).  0≤hi≤1,3 for breast height diameter – stump height diameter equations and 0≤hi≤h for taper equations
	m

	hi
	Tree height where the diameter measurement was taken
	m

	f
	Form factor
	

	fh
	Form height
	

	v
	Total tree volume
	m3


In order to fit the regression equations to data, we used data taken from the University Forest of Taxiarchis, Chalkidiki (Northern Greece). These data came from measurements at 350 hungarian oak trees (Quercus conferta Kit. or Quercus frainetto Ten.), the months of June, July and August 2001. The 350 trees were selected by using systematic sampling, in order to cover all site qualities of the University Forest (array of 3895 ha).

The tree age (years) based on the counts of growth rings was determined from cores of wood from stumps, taken by using increment borers. Two counts of growth rings were conducted (two cores of wood from each tree at stump height) and their counts were averaged to determine tree age. 

The stump height diameter (m), the diameter at 0,8 m height (hi=0,8 m) and the breast height diameter (m) were measured by using measurement tape.

The diameters at 2 m intervals above the breast height diameter (that is at 3,3, 5,3, 7,3, … m) and the total tree height were estimated by using Bitterlich’s relaskop.

The total tree volume was calculated as follows:

From the ground to the breast height by using the cylinder’s volume formula:
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From the breast height to the last diameter that was measured, partially by using the Smalian’s formula:
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where:

da
= the base diameter of the ith bole part

dt
= the top diameter of the ith bole part

l
= the length of the ith bole part.

From the height of the last diameter that was measured to the tree top by using the cone’s volume formula:
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where:

dc
= the last diameter that was measured

lc
= the length of the cone.

The total tree volume of each tree v is equal to
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The form factor was calculated by using the formula:
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and the form height by using the formula:

fh=
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